Name
  Date
  Class


Equations and Relationships
Module Quiz: B


1.
For which equation is x  5 a solution? 

A
2  x  3  
C
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x

  10 


B
3x  15 
D
x  7  12 


2.
Which of the following is an equation? 


A
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y

 3
C
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y

  3 


B
9  2 
D
7  y

3.
Which of the equations below shows the relationship in the table? 
	x
	15
	5
	3
	1

	y
	1
	3
	5
	15



A
y  15x 
C
y  x  2

B
y  x  14 
D
y  
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4.
Sahil got 28 questions right on the math test. Angelina got 7 more wrong answers than Sahil. There were 40 questions on the test. How many answers did Angelina get right on the math test? Which equation represents this situation? 


A
a  7  12
C
7  12  a

B
a 7  28
D
7  40  a

5.
Which is the solution to the equation below?

9  n  3

A
3
C
12

B
6
D
27

6.
Which equation has a solution of 12? 


A
x  6  6 
C
4  x  16

B
x  6  6
D
4  8  x

7.
Which is the solution to the equation below?

3  t  12

A
9
C
9

B
4
D
15



8.

Sean wants to buy a skateboard that sells for $49.99. An advertisement says that next week that skateboard will be on sale for $42.50. How much will Gavin save if he waits until next week to buy the skateboard?

A
$3.51
C
$17.49

B
$7.49
D
$92.49

9.
Which equation has a solution of 8? 


A
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  16 
C
8  

B
4r  16
D
 2r  16 

10.
Which is the solution to the equation below?

32  
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A
16
C
46

B
30
D
64

11.
Luis walked for 16 minutes. Natalie walked for w minutes. Luis walked twice as long as Natalie. How long did Natalie walk?

A
4 minutes
C
14 minutes

B
8 minutes
D
32 minutes

12.
Jesse uses 19 beads to decorate 
each picture frame. In all, Jesse used 
133 beads. How many picture frames 
did Jesse make? 

A
2,527 frames
C
114 frames

B
152 frames
D
7 frames
13.

The outdoor temperature was 18 at midnight. The temperature declined 7 each hour for the next 4 hours. What was the temperature at 4 a.m.?

A
28
C
10

B
10
D
28
Equations and Relationships

14.
Decide whether n  9 is a solution to the equation 2  n  7. Write yes or no.


15.
The weight of a goat increased by 
12 pounds is 38 pounds. Write an equation to represent the situation.


16.
Twelve inches is cut from a board. The remaining board is 18 inches long. Write an equation to represent the situation.


17.
Decide whether n  3.5 is a solution to the equation 2n  70. Write yes or no.


18.
Solve the equation below.

m  3  13.8.


19.
Solve the equation below.

2.3  p  0.6


20.
Denise scored 3 fewer points than Carter scored. Denise scored 18 points. How many points did Carter score? 



Write an equation to represent the situation. Then solve the equation to answer the problem.


21.
The sales tax on a $250 computer is $17.50. Find the sales tax rate.



22.
Last year, Mark was 46 inches tall. This year, Mark’s height is 3 inches less than Peter’s height. Peter is 51 inches tall. How tall is Mark?



Write an equation to represent the situation. Then solve the equation 
to answer the problem.


23.
Solve the equation below.

5p  100

24.

Solve the equation below.




25.
There are 144 pencils in a box. If each member of the class gets 8 pencils, there will be no pencils left over. How many members of the class are there? 



Write an equation to represent the situation. Then solve the equation to answer the problem.


26.
Jeff found 3 times as many seashells as his sister. Jeff found 39 seashells. How many seashells did his sister find? 


Write an equation to represent the situation. Then solve the equation 
to answer the problem.
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